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次の計算をせよ。

①－５ｘ＋８ｙ＋７ｘ－１３ｙ

②６ａ－９ｂ－(４ａ－５ｂ)

③５０(０.２ｘ＋１.４ｙ)

④(８００ａ－１３００ｂ)÷１００

⑤－６ｘ＋８ｙ
──────×(－２１)

７

⑥－３(８ｘ－５ｙ)＋４(２ｘ－７ｙ)

⑦９(２ａ＋３ｂ)－６(４ａ－ｂ)

次の方程式を解け。

⑧ ３ｘ＋２ｙ＝１２｛ｘ＋ｙ＝７

⑨ ４ｘ－ｙ＝１０｛３ｘ＋２ｙ＝１３

⑩ ２ｘ－ｙ＝４｛ｘ－２ｙ＝－１

⑪ ３ｘ－４ｙ＝４｛５ｘ＋８ｙ＝１４

⑫ ２ｘ＋ｙ＝８｛４ｘ－２ｙ＝８

⑬ ３ｘ－ｙ＝－５｛６ｘ＋５ｙ＝１８

⑭ ２ｘ－(７ｙ＋ｘ)＝１３｛５ｙ－２(ｘ＋３ｙ)＝４

⑮ ４ｘ＋５(ｘ＋ｙ)＝２６｛３(ｘ＋ｙ)＝２ｘ＋ｙ

⑯ ３(ｘ＋２)＋(ｙ－２)＝２９｛３(ｘ＋１)－(ｙ＋１)＝３１

次の問いに答えよ。

⑰ｘ＝－６，ｙ＝３ のとき，
－ｘ＋２ｙ２ の値を求めよ。

⑱下の図の表面積と体積を求めよ。
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⑲下の図の表面積と体積を求めよ。
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解答 №４
①２ｘ－５ｙ

②２ａ－４ｂ

③１０ｘ＋７０ｙ

④８ａ－１３ｂ

⑤１８ｘ－２４ｙ

⑥－１６ｘ－１３ｙ

⑦－６ａ＋３３ｂ

⑧ｘ＝－２,ｙ＝９

⑨ｘ＝３,ｙ＝２

⑩ｘ＝３,ｙ＝２

⑪ １
ｘ＝２,ｙ＝─

２

⑫ｘ＝３,ｙ＝２

⑬ １
ｘ＝－─,ｙ＝４

３

⑭ｘ＝－１,ｙ＝－２

⑮ｘ＝４,ｙ＝－２

⑯ｘ＝９,ｙ＝－２

⑰２４

⑱表面積:２７π(㎠)

体積:１５π(㎤)

⑲表面積:１４４π(㎠)

体積:２８８π(㎤)


